Fiviagvily il i

Mathematics (New)
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with the help of logarithm.

1 By
4. Find X + ! when x + 4 = L 5, Rationalize ~=— and simplfy.
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Faclorize 2xy" + Bry = 24 x.
Prove by factor theorem that (x - 3)is a faclor of (x' - ' - 5 - 3) and hence find the other factor.

il
{7
8 Findthe H.CF of {16m’ - 14m + 3)and (6m* + 5m - 4} by factorization method.
0. Find the square root of (= 2x" + 3x' = &' ¢ ) by division method.

10, Think @ number, add 3. Double the sum, I the answer is 40. Find the original number.
1, Ify= 'ji“* Find the missing in the order ' airs( ,0)and (6, ).
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Section-C Marks: 24

Note : Attempt any THREE questions. Al questions carry equal marks.
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Show thal the points A (1,2), B(3,4), G(4, 5)and D (2, 3) are the vertices of a rectangle.

Show that Ihe medians of a trangle are concurrent and their point of concurrency is the point of irisection
of each median. m

From the point outside a line, the perpendicular is the shorigst disla

Draw a Uiangle PQR, such the mP6
a riangle SPQ equévalent in a
O
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